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GROUP - A
@ - e

1. From the alternatives given under each bit, write
serially the correct answer along with its serial
number against each bit: I1x12=12

g6eie ¢6 ggea FuANS Feegeeq A0R @A
6Q2 @@ gga 9fe Q'ay aABe @A/PacR 6ad :

a) Set of all even numbers bege@ﬂ and 14, is:

10 N9 14 QU6Q QI g QIgees

626 2Rl : Q
i) {10,11,@@

ii) {11,%
iii) l\@i 4)

mGyz, 14)
b&e arithmetic mean of first 5 natural numbers
S:

\\O g 5 gae QIGHea s ARl el :
i) 3
i) 4
i) S
iv) 6

805R/D.E(R)/Set-B [ 2] Contd.



c) Number of quartiles which a fivquency
distribution has, is:

NP QIARIQ 991eQ 9QHIafqEea Q°dvl
el :

i) 1
i) 2

%
iv) 4 <
d) The derivative of a cons ‘bgs:

m) ! \2\6

e) TIKMEdmn of 21, 24, 39, 30 and 48 is:
24, 39, 30 99" 48Q e 26T :
9 €

i) 24
Y
iii) 39
qe
iv) 30
Mo

805R/D.E(R)/Set-B [ 3] P.T.0.



c) Number of quartiles which a frequency
distribution has, is:

NS QIRAIN I9IRA 9QUIARYERa A wyl
62/ :

i) 1
i) 2

%
iv) 4 @
d) The derivative of a constar 6:

Q@ qm Ka &
)
i) i Q/
iii) l 6
iv) \2\
ian of 21, 24, 39, 30 and 48 is
§24 39, 30 99" 48Q U@ UCT :
AOI) 21

ii) 24
Y
iii) 39
RN
iv) 30
Mo

805R/D.E(R)/Set-B [ 3] P.T.O.



f) The n" root of product of n observations is
called: '

n Qe IGHRR TR nef ARg QI
QRIAING, QIR 62R :

i) Harmonic Mean
LA Al
i) Geometric Mean

SR A \6®

iii) Arithmetic Mean 0

AEeR ﬁru@@

iv) Mode

g) \élspcminn which is not a relative

meas
Q4@ AIGR Q19! 1@ 2ICABe AI0e Q6%

] | e2®l :
- Quartile Deviation

oQelrae S48

ii)) Coefficient of Mean Deviation
ARl Geyba gaIs

iii) Coefficient of standard Deviation

AR Sgyea gaIe



iv) Coefficient of Variation
ePra I

h) Sum of absolute deviations is minimum when
measured from:

0o SQIPgPea Ang QR 24, 6a606RER
6996 Adl QI :

i) extreme values

LAAIRGFRY @
ii) Mean " 0\6
O

x’ -’

i) & 7 7 is equal to :
] Ou—}a x’-a
lim x’-g’

2 2
X—a X -—-a

dale 2T :

i)

2 | W

=
et
0|



oy 2
111) 18
a

iv) 3

1) In Jﬂx}dx , f(x) is called :
eSS  [fydxeq fix)g Qi@ geIaN, oIl
eLml :

i) Integral . 6@

afliae
ii) Integrand 0

deliom

iii) Constant uf%gnﬁnn

delie
iv) TIntegrati
Qdien

1 0
k 0 1S not a :
01

AIES 609 AI§Q [62, @2

oo e
o - O
—_ O O

2Rl :
_iy Identity Matrix
Qe AIgQ



)

ii) Square Matrix
Q8 aIgg

iii) Diagonal Matrix
odl qIge

iv) Zero Matrix
g g

_i j is equal to : | 6®
N
y W‘ZO
S 116

~10
i) 1

i)
ii)
iii
iv'

2 An@e following questions as per instructions
4{: bit; 1x12=12

geoie ¢g ggeq goa UQERd qelee FQfge
g99eea aaq @2 :

a)

Answer each of the following questions in one
sentence :

FIRYE Y6IR O9Q AR 681G 6RSIN QUMER
o2 :

i) What is coefficient of variation?

805R/D.E(R)/Set-B | 7] P.T.O.



b)

PReIQ g @4 ?

ii) What is a positional average?

9Q 21980 Q98 @' ?

iii) Differentiate x* with respect to x°.

x'a x? 66 2eeRR 9 |

Rectify the underlined portion of the following

sentences:

QORYe QINGPRER 2/ 6aElIFe 2rag QeaRIR

o :

iv) Chain Rule is applied te solve equations

using determinangs:

Foafifie QAYMEAE0R, QR MR @
AMQREYRQMEIRIS QAN |

In a coqtifiugus function:

4, 2RFR 'TIRER 8/16
lim li

T ) =fx)= LX)

LX—? a X—Aa

vi) Harmonic Mean of 10 and 15, is 13.

10 ¥Q° 15a 2aIae Al 13 26T |

Fill in the blanks:
gMAIR g8 @9 :

.vii) The process of differentiation and

to each other.
|

integration are
UQRER G AR dedan

81



viii) Semi-interquartile range is also known as

207

egdraea vga g
QRIAIN |

2 -l
ix) Adjoint of the matrix (_4 _3] is
-3 4
R
2 -1} (V-3 :
AER | _,4 _3 | o] U6E I
d) Express each ollowing in one word/
term:

x) A @@h contains all subsets of a given
e

S&G 6Q6 6QULER Y@ g8 6d0Q QMY
[06Qcgee alad |

Axi) The alternative name of differential
coefficient.

YPaw AT UM 9@ @IF |

xii) Values that divide a frequency distribution
into ten equal parts.

606 QUWIGHR I QQNING §2IQQ AAIR
Q4 QUER TN Q6 |

805R/D.E(R)/Set-B [ 9] P.T.O.



GROUP - B
@ - NG
Answer any ten of the following questions within
30 words each: 2x10=20
geoyaq 30G 406q QIFe af FRde saslad
Q88 g9ge eea T2 :
a) Give one numerical example each of constant
function and identity function. @
HOR TR 8 IR TR Eﬂ% { @Hae

discontinuous at
X = 2 6R6R,

Q208 G |
b) Show that the éul@ng function is

aee Gga 6d Qdi -

when x>2

| when x<0°

63111: differential coefficient of (2x +7)

7 Q 2909 420 Ada a |

4
-

1
d) Find the integral of the function (x—;) :

aIee (x—ﬂ- Q AnIee Fde e |

e) The sum of 50 observations is 500. Find their
arithmetic mean.

[10]



g)

h)

i)

508 QEIIQ 6ITTR 500 2I6E | 6ANIRER CIEER
Rl fda o9 |

Find the Geometric Mean of 27, 125 and 343.
27. 125 ¥@° 343Q QIFEQ A FQEa @ |
Define Harmonic Mean.
AR FlUa Q°\I el |

Find the first and third quart@ of the
following data:

m-:am QIR gan @ ?5@1 "agee Ada

'Marks 30( 40| 5060
Numhcr 31515 |2
of stud
219 'm

Range and Coefficient of Range.

A d 6 uga gaIs I |

j)

[f mean and standard deviation of runs scored
by A and B are 50 and 15 respectively then,
find its coefficient of variation.

Q3 A 99° BQQ QR Q°geR fIkl 8 AINe Q4T
QaIREAN 50 B 15 24, 606Q YRIQ FNRRQ
qaIs Pda o |

[ 11 ] P.T.O.



k)

)

The coefficient of variation of a distribution
is 60% and its mean is 20. Find its standard

deviation.
IR S9I0a FRRIA GEIS 60% 26T 9Q° 9LIR

ARl 20 | 4RIQ AIRR IQIe Fgad @a |
2 3
Find the adjoint of the matrix, A = | 4]

2 3 \
Age A =[1 4]9 ¥eeae fde ea |
Evaluate:
Y PQad 9Q :

2 -CRY

6, D 4
(T & -7

Answer dny four of the following questions within
50 word$ each: 3x4=12
deouaq 50¢ deeq QAifle ay Jfge cacdlad
el gga eea d -

a)

b)

x2+9

X+

Find the derivative of with respect to x.

am m XO+9 .
x q 08 @@ 1 O YRR oda ea |
Compute the median from the following data:

P69 caNg e Fda Qq :
2, 4, 8, 10, 12, 20, 25, 15, 30, 32 and 40.

[121



d)

State any three demerits of mean deviation.

A1l F4ea cacRlad GeRIT BaRIdiel ead |
IfA={1,3,5 179}, B={24,6, 8, 10}
and C = {3, 4, 7, 8, 11, 12},

Show that An(BUC) = (AnB) U (ANC).

Q@ A=1{1,3,57 9}, B=1{2 4,68, 10)
qe° C={3,4,78, 11, 12}
adiz 69, An(BUC) = (m@ ANC)

N\
Identify the following @hﬂ as odd or even
function:

f60)I9 ﬂ'm@%@w Q agg oee AR
+5

09¢ @a :
1) =

ii) f@ =x3 - x
@Qx} = 19x* — 7x? + 1

fT\EvaluaIe:

Ry PQUd @Q :
lim JI+x-+1-x
x—0 X =




GROUP - C
g - Iaea

Answer any three of the following questions:
8x3=24

FORge caeled GerI® gga aea 2 .

a) Evaluate:

: <&
ARy 908 @a : .
fol(x’+9) dx 00\6

b) If —[ﬁi] 3%%&“:1 f{2) = 0, then, finu

" oX

= 3x? - 2x \9Q° f{2) = 0 29 6069

I{x) |
the following data, Calculate the standard
deviation and the coefficient of variation:

F60)I9 QQIRg AIRe 9948 8 FhreIa QI Fqae
@ :

Marks: 4 6}3 10'12}14 16

1219 |
Number 2 (3168 |513|2]
. of students: | ‘ R
81§ Q°ay ]




7.  From the following data find the median age:
Q618 QUIAG UG Q4Q FQUE @Q :

Age Number of persons
(in years) (in thousands)
eaQ (dea) | ¥ Q' (eF16R)
Below 10 2
10g, @9
Below 20 @
20q @a .
Below 30 0\
h 30 q @A O
Below 40 @ 12
409 @fl q?
Below 5 14
509
Be 60 15
e

A elow 70 1S5S
709 @9
70 and above 15.6
709 @f

8.  Explain the merits and demerits of arithmetic mean.
QIdSR QRIQ QURIGe! 68 2ORIRRIGEe eI |

805R/D.E(R)/Set-B [15] P.T.O.



Solve the following equations by using Cramer's
Rule:

ﬁeala AARQdge] SINes @@mﬁl @8 aalIe
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anup -A
Qe - 3uua

1. From the altematives given under each bit, choose
and write serially the correct answer along with its
serial number against each bit : 1x15=15

JETYe HEYER T2ININY IREYERR 0 a8 o008
QA I JENQ HUEYFR 9Fi@ Q%I 99Q BF/PacR @8R
7/
(@) From the following, the leap year is :

6 ARAINQ 2RJSF, 266

(i) 2017 (i) 2018

(i) 2019 C~Y (v) 2020
(b) The yieldfrom"5% stock at 120 is :

5% a9 120 651 996a 919 266

(i) 4% (i) 45%

i) 5% (iv) 5%%

(c) The present value of a perpetuity of ¥ 800
per year at 8% p.a., is:

Qe 8% 296a T 800 @ Y@ THBRIA QVFIFA

26% :
(i) 28,000 (i) 9,000
(iii) T 10,000 (iv) 9,090
BMS (Commerce)(Set-A) 2 Contd.
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(d) If the determinant of a matrix is zero, the
matrix is called :

9% 9@ QG RO R 9, 6069 692 QIR

ceq :

() Row matrix (ii) Column matrix
UG QIS 94 AIge

(iii) Unit matrix (iv) Singular matrix
QR AIge ATRIQ AIGF

() The order of the followifg'determinant is :
6018 AdiInea a6a @16d

1 a be/
1 b (ca|
1 .crab :
(i) one (i) two
(= R
(i), three (iv) four
oR QIa

tH\, From the following, the relative measure is :

Q618 AaIQ 2icodQ ARG 2l6Q

() Range (i)  Quartile deviation
WIg °drae Igyd

(i) Coefficient of mean deviation
Al Qgiea gaIe

(iv) Standard deviation
AN I4e

BMS (Cummerce)(Set-A) 3 P.T.O.
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(g)ﬂ The mean deviation of 3, 4, and S is :
3, 4 4e* 5Q A1 IQYS 26T :

(i)

(iii) (iv)
(h) Coefficient of standard deviation, is :
IR IR QOIS 16T -

. Standard deviation
) - Mean

AR IR
o x100
(i) (Sandard deviation)2
QPR Iguea od

_(“ ) Standard dswatlun
O Mean
0199 Sgu9

2107)

(ii)

Hlw N W
Wls WN

x100

(iv) Mean dewatmn
Mean
0 Seyg

121

BMS (Commerce rce)(Set-A) 4
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(i) Lack of symmetry is:
2AAFIE QI YN, CID 6Tl :
(i) Mean deviation
Izl QYR
(i) Standard deviation
AIRR QT
(iii) Skewness
o ¢
(iv) Kurtosis
QQQQ!
() Kurtosis measures :
QG0 QIR Fda Q6Q, VI 62R
(i) Shape of thedrequency curve
QARISRISeR AR
(i) Peakedness of the frequency curve
QPRI IFR FANC!
(iii) Symmetry of the frequency distribution
AURC OReeFa ANTCS!
(iv)™~ Coefficient of variation of a distribution
Qe 999 TRR0Ia QIS
(k) If the values of two variables deviate in the
same direction, then it is called :
Q% QT 999 RIGER YR TJ6a OF 6B, 6569
qeIQ QRIAN :
(i) Negative correlation
QG ALAAR

BMS (Commerce)(Set-A) 5 P.T.O.
805 R/805 E/805 DE




(i) Positive correlation
UFIAS ALANR
(iii) Perfect negative correlation
Qfd Q€IFe A2QANR
(iv) No correlation
QAIANR TR
() The value of a,in the following matrix is :

QI8 AR a,,9 MY S

9 5 3 2
A=|8 7 3 4
2 1 Q74
(i) O (ii)) 1
(iii) 2 (iv) 3
(m) I|f each element of a particular row of a
%eten'mnant is multiplied by a constant ‘K’,
en

ge 9Q FINeQ ¥ AR UG I geeue
RAIQIFY 9Q Y@, 'K' QoI Qae AU, 606% :
(i) The value of each element is multiplied
by ‘K'.
geey@ QaIQiea i 'K' g6 6219 |
(i) The value of determinant is multiplied
by ‘K.
adiaea g ‘K Q8 6219aN |

BMS (Commerce)(Set-A) 6 Contd.
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(n)

(0)

(ili) The value of determinant is increased
by ‘K’.
I0ea QRY 'K' 98 4 |
(iv) The value of determinant remains in
unchanged-
24109 g 2056 @62 |
A man invested ¥ 14,400 in ¥ 100 shares of
a company at 20% premium. If the
company declares dividend at 5%#.then his
total income is :
6QlIS @ 100 e&2 2rEBa 868 @48 20%
2RISR T 14,400 SREQIQ 96 | DL 692 @I
4691 5% A6 AL CAITC VGG, 6662 FIEA
6AIS A 629 : |
(i) T 500 (i) ¥ 600
(iii) T 650 N (iv) T720
A 2 x 2 matrix, Mmeelemntsaregwen by
a,= i%j,is:
m 2% 2.016S, QIR QAN a=ix]jqQel
QS 249, 912 629

(12 (1 2
o (33 o (33
o 1L 2) (42
(i) [2 4) W) |2 1)
BMS (Commerce)(Set-A) 7 P.T.O.
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2.

Answer the following questions as per instructions::

1x15=15

PARYS 999PN QRQ 2QERd 2QAIA T :
(a) Express each of the following in one word /
term:

PARYe geRNeq 6a/EN 6NN aR/aQ6a gRId

(b)

@ :
(i)

(ii)

Jiii)

(V)

A statistical technique,‘'used to analyse
the relationship betweern two or more
variables.

4@ 9RQ°HIR gedig 6RlaR, QIR R @Al
GERINR SRFIIPS AXYER ANGR F6gaE IR
ege g1

A matrix.obtained by deleting a row or
a-column of a matrix.

6QIEN AIGTQ 9 S8R PRI R UG e
@Rl 6Q VYR 62VEQN AIGT |

The party to a bill of exchange receiving
the payment.

4R TR6NA 0GR 28 go8 QAR a8 |
Another name of quartile deviation.

QRAraQ TTR 2R IR AN |

Answer each of the following questions in one
sentence :

FORYe geoie gaa eea G'Qfﬁ;ﬂ cadId QIIER

Q.

BMS (Commerce)(Set-A) 8 Contd.
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(v) What is a perpetual annuity ?
a8 Qa3 @'4 7

(vi) Give an example of positive correlation
between two variables.

RGO AAYER URAR ALANIR Y@ RLRE!
N

(viij Calculate the coefficient of mean
deviation of a distribution whose median
is ¥ 30 and mean deviatioh/from the
median is T 15.
9Q 9899R, QAIAY T/ T 30 9 Ay
QQIe T 15, Q1210 PRI SQTQ QIS FQad
@ |

(c) Rectify the Onderlined portions of the
following sentences :

CORYE SIMGEER a9l CRNITE 2°8Q QEaIG

@

(vili)_The present worth of an annuity of
¥ 1,200 p.a. for 10 years at 12% p.a.,
compounded annually, is ¥ 6.879.

[Use (1.12)719=0.3221]
Q89 T 1,200 ISR ¥Q afaia 10 986Q,
QdQ 12% 9998 QI 2R6Q WIS FRY
- ¥ 6.879 266 |
' [yeeiq ea (1.12)719=0.3221]

BMS (Commerce)(Set-A) 9 P.T.O.
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(ix) 1If two rows of a determiriant are

interchanged, then the value of the
determinant is zero.

99 49 G000 90T UIF 20FSeR SN,
6069 692 FHIORa RY g R4 |

(x) The appropriate measure of dispersion
of a frequency distribution.with open-
end classes, is standard-deviation.
e g8 g8 S9lQI SIGRIAeI O8eeRa
QUYS SgRE IR, NS SQIe 26T |

(xi) Stocks are partly paid up shares.

" 9QI0Q rER)RI6e 9N U8 26T |
(d) Fill in the-blanks :

JHRIT YO @ :

(xii) " diagram is a diagrammatic

method of studying correlation.
08 YR QALAAR AUAE QS

9QUa0 26S |
~ (xiii) In a symmetrical distribution mean,
mode and median
4@ AAFS 9SR4R6a AN, §OSR G AR
CRANAIAIT |
BMS (Commerce)(Set-A) 10 Contd.

805 R/ 805 E/805 DE



(xiv) The

of a non-singular matrix =

Adjoint A

Al -
e PRARIQ AIgER =
qeRae A

IA] |

Fora skewed distribution mean
is greater than mode:

OdIQ 9BReEsa AR §AER 01

2R Y |
Group ~B
&= RS

Answer any eleven'of the following questions within
three sentences each : S 2x11=22
geeieq Fer/F QI6a QAIFe oY ﬁ'raawe cA6RNET
QIS gqa Qe @2 :

If)the true discount on a bill of Z 540 is

T 90, then find its banker's discount.
540 oQ1e 9@ 29Q g9 %1 T 90 c26m, 12
VST 9F FQUE @ |

How is annuity due different from annuity
immediate ?

QTR 628, QT SQVEIQ 019 A &R ?
Find the cost of ¥10,000, 5% stock at 110

(@)

(b)

(c)

(brokerage — ]

107

BMS (Commerce)(Set-A) 11 PT.O.
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T 110 @66a T 10,000 S1Q 5% GRQ GRS

~ 1
ﬁqaqmi(mmﬁ

(d) Give one example each for matrix and
determinant.

AIES @ AYI0QA 69T ERYIN QQIZed @2 |
(e) Evaluate (94 7908 @) :

32 7) (20 810 7 -5
4 2 -1)7(173 44 3 6

(f) If the first and third qUartile of a distribution
are 34.32 marks-and 78.82 marks
respectively thénfind the quartile deviation.
A% IQ 9090 02N B QOIR OQAIae QaGEA
34.32 A9 9o 78.82 QAQ 4, 6069 YRIQ .
OQErER IO FAE ¥R |

(g) Wirite the formula for calculating mean
deviation from median for a discrete series.

| @ Q9 646116 AAIAQ AN IQIT FEa SRR
7 Qg 6Rd |
(h) State any two merits of standard deviation.
T IR GQI0a 606163 QAT QUNITS! R |
(i) Write the formula for calculating Karl
Pearson's coefficient of skewness.
QR JUGARE FdIe QIIE Tda Qa9 QT
RS |

BMS (Commerce)(Set-A) 12 Contd.
805 R/805 E/805 DE



4.

()

(k)

)

(n)

Show a scatter diagram for negative
correlation.

QEINR ARANSA IQ VY IeQ 1Y |

What do you mean by discounting a bill ?
49 QPINAE QLR @'4 9% ?

10 0 1
IfA=[D _1} and I3=(1 0],thenAB=?

Qe A= [{1} ?J g B = (2 :J §o6e AB =7
Write the names of one absolute measure
of dispersion and one.relative measure of
dispersion.

g9 Iged G 26dFe RRER €IS 6RdIN
AR RN NG

How much morey will be realised by selling
% 10,000, 4% stock at 99.

10,000(cFIR°4% AQ 99 QA IQ FEM 6Q6C
ol ARG ?

Answer any six of the following questions W|th|n
six senterices each : 3x6=18
JERIeg’ 826 Q6] QIFie oY FOadic 6asqlad sad
gea’eaa @2 :

(@)

The banker's discount on a bill of T 1,650
due, a certain time hence, is T 165. Find
the true discount.

@8 hq QN0 06Q, 694 68N T 1650a g9
MISes 91 T 165 26g | YRIQ gee 9F! H9Qed
Q|

BMS (Commerce)(Set-A) 13 P.T.O.
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(b)

(c)

(d)

(e)

< 9,800 are invested partly in 9% stock at
75 and the rest in 10% stock at 80, which
gives equal amount of income from each
stock. Find the amount invested in 9% stock.
6718 9,800 oFIQ @8 2°@ 9% qRER 75 Q6Q
9e* Q@ 204 10% |qex 80 <aca T@6QI9
QAAR, €062 9% FRER TIFEAIT FNAINYR
URQIE FQEE @ |

B buys a piece of land.at_¥ 3,00,000 for
which he agrees to make'equal payments at
the end of each yearfor 10 years at 10%
interest. Find the amount of each instalment.
[ Given (1.1)-%<,0.3855]

B 4@ @ T3;00,000 6o @68, Q21 Q19 6Q g€
Q¥ 66969dRIE @36a 620 10 o8 adys 10%
QA AUAECR CIRNG PP VB | 606T YERIR FEA
O 8908 e | [ gea (1.1)7'% = 0.3855]
Find the adjoint of the following matrix :
L6718 AIGTR IeRne 74 /A :

12 3
A=|2 3 2|
3 3 4

Solve by Cramer's Rule :
QIS TN 2QAIER AARIS @ :
2X +3y =3

3x -2y =11

BMS (Commerce)(Set-A) 14 Contd.
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(f) Calculate Karl Pearson's coefficient of
skewness from the following data :

6718 9UIeg AIRJZARE OdIe AT FQaed
@ :
Mean (qua) = ¥ 3.28
Mode (§98§Q) = T 3.00
Standard deviation (A6 Sg¥6) = T 1.35
(g) State the implications of coefficient of
correlation for the following values':
F6qI8 QMIGEe a1, ALANE’ JAIR ALe 9GS
28 emS
(@) r=+1 (i) r=20) (ii) r=-1
(h) Calculate the mean’ deviation from mean for
the following data *
FEQI8 QAINQ AIU0IY AR IS FAEa &R :
Values (X%):10, 20, 30
Frequeney.(y) : 4, 10, 6
Group-C
a - U
Answer any four of the following questions :
o ; 7.5x4=30
PARGe 6a6lad QIEaIT g9e eaa @2

5. Find the amount of an annuity of ¥ 3,000 for 12
years, interest being 3%% p.a.
[ Given, (1.035)'%=1.511066 ]

BMS (Commerce)(Set-A) 15 P.T.O.
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QTR 3%% Q@ 206 12 edea T 3,000Q 69IEd

QTR 6R1T VTS FQUE @4 |
[ go®, (1.035)'%=1.511066 ]
6. Solve the following equations by using matrices :
FEQI9 ANRAGYER AITT NIRIA QA ARG |
2xX +3y =13
X -y =17
7.  From the following distribution caleulate the quartile
deviation : .
Q6QI9 0399Ra 0QAIreRe PO TYa 99 :
Weight (in kgs)  :0-15 15-30 3045.4560 60-75 75-90 90-105
Number of students: 8 26730 45 20 17 4
8. Prove that: (goie-ea6Q) :

1 1 1+
a b ‘e

| = (a-Db) (b-c) (c-a)
32 bz cz

9. Calculate mean and standard deviation for the
following data :
SIS QUIRA A1)l B AIPR IS ma e :

Wages (in ) : 200 250 300 350 400
Numberofwomers: 7 5§ 6 4 3

10. Explain the different types of correlation.
QOR geIol 9t g |
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Qe 3%% QM 296Q 12 @gea T 3,000Q 6aigd

ATNQ 6916 VTG FAE !Q |
[ 9o®, (1.035)'%=1.511066 ]
6. Solve the following equations by using matrices :
Q6918 ANINAGFEY FITY MR QB AR Q9 :
2x +3y =13
5 —y =7
7. From the following distribution calchlatethe quartile
deviation : |
F6I9 0GeeRa 0gdree A ada 4 :
Weight (in kgs)  :0-15 15-30 3045 4560 60-75 75-90 90-105
Number of students: 8 26 30 45 20 17 4

8. Prove that : (ga¢l o '6f) :

1 1 1)
a b ¢

“={'=(a-b) (b-c) (c-a
2 pa 3 ) (c-a)

9. Calculate mean and standard deviation for the
following data :
QIS QAR A1l B AIRR @Qré ada a9 :

Wages (in ) : 200 250 300 350 400
Number of workers : 7 5 6 4 3

10. Explain the different types of correlation.
QR gRIoq AeANe QI |
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